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1. Write each multiplication as a repeated addition. Then illustrate using coloured tiles

to find each sum.

a)- (+5) X (=2) =

d) (—4) x (+2) = (+2) x

2. Use a number line. Find each product.

a) (+5) x (-1) =

b) (+3) x (+4) =

o (-2)x (+6) =

d) (+4) x (-5) =



3. a) The temperature rose 2°C each hour for 6 h. Use integers to find the total change in
temperature.

b) If the starting temperature was —4°C, what was the temperature after 6 h?

4. Show how to model (-2) x (-5). Explain why you chose that model.

22 B. Complete each statement using positive, negative, or zero.

a) The product of a positive integer and a negative integer is

b) The product of a negative integer and zero is

¢) The product of an two negative integers is

6. Find each product.

a) (+2)(+3) = b) (-6)(+4) =

0) (=22)(-10) = d) (+24)(=30) =
e) (-36)(-5) = f) (+42)(43) =
9) (-81)(+2) = h) (-237)(0) =

7. Fill in the blank to make each equation true.

a) (-6) x =24 b) (-9) x =427

(9] x (=3) = (-21) d) (—4) x =+24

e) (+20) x =+300 f) (=32) x =160




23 8. Write a related multiplication equation for each division equation.

a) (+100) = (-=25)=—4

b) (-28) + (-7) = +4

€ G =43
(+48) _
d) oy =

9. Show how to model (-12) + 4.

24 10. Decide whether each quotient will be positive, negative, or zero. Then evaluate each quotient.

a) (-25) + (-5) Q (42

b) (-36)~(+9)___ d) 0+ (-5)

11. Evaluate each quotient and order the results from least to greatest.
a ((20)+(+4)=___ b (18 +(-6)=___ ¢ (+48) + (8) =

The quotients from least to greatest are:

12. Find all of the divisors of —~16. Write a division equation each time. The first one has been
done for you.

Divisor Division Equation
-1 (=16) + (=1) = +16




13. Write the next 3 terms in each pattern. Then write the pattern rule.

a) +1,-4,+16, -64, 5 5 > ene

Pattern rule: Start at . each time.
b) —128, +64,-32, 16, , > 5 556

Pattern rule: Start at : each time.
¢) —3125, +625, -125, , ; 5 s

Pattern rule: Start at . each time.

25 14. State which operation you would do first. Do not evaluate.

a) (+8) + (=2) x (-3) b) (=20) + (-4) - (-2)

o (=2)(4-5) d 5-3+ (-4) x (-2)

15. Evaluate each expression in question 14. Show all your steps.

a)

b)

d)




16. Evaluate using the order of operations.

a) 17-4x4=

b) —48 +4-2(3-4) =

) 2-4x9=

d) £9(E-2

e) (-3) x (-3) + (—4) x (—4) =

f 21 +2(3) ol
(=3) X (-3)




